Commodity Code	<u>Description</u>	Vendor	<u>Unit of</u> Measure	Awarded Price	<u>Qty</u>	Extended Price
	Drum Heads: 16" MX1 White Bass, Evans, No substitutions BD16MX1W	233310-STEVE WEISS MUSIC	EACH	\$33.00	2	\$66.00
18000035	Drum Heads: 18" MX1 White Bass, Evans, No substitutions BD18MX1W	233310-STEVE WEISS MUSIC	EACH	\$35.00	2	\$70.00
18000050	Drum Heads: 20" MX1 White Bass, Evans, No substitutions BD20MX1W	233310-STEVE WEISS MUSIC	EACH	\$37.00	2	\$74.00
18000080	Drum Heads: 24" MX1 White Bass, Evans, No substitutions BD24MX1W	233310-STEVE WEISS MUSIC	EACH	\$45.00	2	\$90.00
18000110	Drum Heads: 28" MX1 White Bass, Evans, No substitutions BD28MX1W	233310-STEVE WEISS MUSIC	EACH	\$53.00	2	\$106.00
18000125	Drum Heads: 30" MX1 White Bass, Evans, No substitutions BD30MX1W	233310-STEVE WEISS MUSIC	EACH	\$57.00	2	\$114.00
18000160	Drum Heads: Snare Batter Head, Hybrid Grey Marching Snare, 14", Evans, No substitutions SB14MHG	233310-STEVE WEISS MUSIC	EACH	\$44.00	4	\$176.00
18000190	Drum Heads: Snare Side Head, Hybrid Series Snare, 14", Evans, No substitutions SS14MH1	233310-STEVE WEISS MUSIC	EACH	\$27.00	4	\$108.00
18000210	Drum Heads: 6" MX White Tenor, Evans, No substitutions TT06MXW	233310-STEVE WEISS MUSIC	EACH	\$11.00	4	\$44.00
18000215	Drum Heads: 6" System Blue Tenor, Evans, No substitutions TT06SB1	233310-STEVE WEISS MUSIC	EACH	\$10.25	4	\$41.00
18000265	Drum Heads: 10" System Blue Tenor, Evans, No substitutions TT10SB1	233310-STEVE WEISS MUSIC	EACH	\$11.25	4	\$45.00
18000290	Drum Heads: 12" System Blue Tenor, Evans, No substitutions TT12SB1	233310-STEVE WEISS MUSIC	EACH	\$12.25	4	\$49.00
18000315	Drum Heads: 13" System Blue Tenor, Evans, No substitutions TT13SB1	233310-STEVE WEISS MUSIC	EACH	\$13.00	4	\$52.00
18000340	Drum Heads: 14" System Blue Tenor, Evans, No substitutions TT14SB1	233310-STEVE WEISS MUSIC	EACH	\$13.50	4	\$54.00
	Drum Heads: Concert Snare, Ambassador, Coated, 14" Diameter, Remo, No substitutions BA 0114-00	233310-STEVE WEISS MUSIC	EACH	\$14.50	8	\$116.00
	Drum Heads: Batter Head, Black Max, Crimped, Ebony, 14", Remo, No substitutions KS-0614-01	233310-STEVE WEISS MUSIC	EACH	\$44.25	4	\$177.00
18000915	Drum Heads: Tenor Head, Pinstripe, Clear, Crimplock, 6" , Remo, No substitutions PS-0306-MP	233310-STEVE WEISS MUSIC	EACH	\$13.50	2	\$27.00
18000925	Drum Heads: Tenor Head, Pinstripe, Clear, Crimplock, 10", Remo, No substitutions PS-0310 MP	233310-STEVE WEISS MUSIC	EACH	\$15.00	2	\$30.00
18000930	Drum Heads: Tenor Head, Pinstripe, Clear, Crimplock, 12", Remo, No substitutions PS-0312 MP	233310-STEVE WEISS MUSIC	EACH	\$16.00	2	\$32.00
18000935	Drum Heads: Tenor Head, Pinstripe, Clear, Crimplock, 13" , Remo, No substitutions PS-0313 MP	-233310-STEVE WEISS MUSIC	EACH	\$17.00	2	\$34.00
18000940	Drum Heads: Tenor Head, Pinstripe, Clear, Crimplock, 14", Remo, No substitutions PS-0314-MP	233310-STEVE WEISS MUSIC	EACH	\$17.75	2	\$35.50
18001435	Mallets: Jim Casella series, Innovative Percussion, No substitutions IP-1002	233310-STEVE WEISS MUSIC	PAIR	\$31.00	2	\$62.00
18001440	Mallets: Jim Casella series, Innovative Percussion, No substitutions IP-1003	233310-STEVE WEISS MUSIC	PAIR	\$31.00	2	\$62.00
18001455	Mallets: Jim Casella series, Innovative Percussion, No substitutions IP-1005	233310-STEVE WEISS MUSIC	PAIR	\$35.50	8	\$284.00
18001460	Mallets: Jim Casella series, Innovative Percussion, No substitutions IP-1006	233310-STEVE WEISS MUSIC	PAIR	\$35.50	2	\$71.00

Commodity	Description	Vendor	Unit of	Awarded	Qty	Extended
<u>Code</u>			<u>Measure</u>	<u>Price</u>	<u>Q(y</u>	<u>Price</u>
18001465	Mallets: Jim Casella series, Innovative Percussion, No substitutions IP-1007	233310-STEVE WEISS MUSIC	PAIR	\$30.00	2	\$60.00
18001550	Mallets: Sound Power Mallets, Vic Firth, No substitutions BD1	233310-STEVE WEISS MUSIC	PAIR	\$23.00	1	\$23.00
18001595	Mallets: Sound Power Mallets, Vic Firth, No substitutions GB3	233310-STEVE WEISS MUSIC	PAIR	\$32.00	1	\$32.00
18001765	Replacement Parts: 1" White Stick Tape or White Vinyl Tape, 3M, Scotch or Any equivalentSW-STICKTAPE	233310-STEVE WEISS MUSIC	EACH	\$3.50	10	\$35.00
18001770	Replacement Parts: Adams Cord and Springs for 5.0 Synthetic Marimba, Adams, No substitutions	233310-STEVE WEISS MUSIC	EACH	\$29.00	5	\$145.00
18001777	Replacement Parts Innovative SB2 Double Marching Drum Stick Bag; Holds Two Pair of sticks/mallets and features "IP LOGO" down the side.	233310-STEVE WEISS MUSIC	EACH	\$12.25	6	\$73.50
18001778	Replacement Parts; Vic Firth Keyboard Mallet Bag; Model No. KBAG; Hangs from the Bar Post of Marimba, Vibraphone ro Xylophone; Holds mallets and sticks.	233310-STEVE WEISS MUSIC	EACH	\$46.50	2	\$93.00
18001821	Pearl Bass Drum Mallet Holder Replacement Clips For BMH100, No substitutions.164276	187146-MUSIC & ARTS CENTERS	EACH	\$13.57	4	\$54.28
18001950	Sticks: Multi-Tom Drum Stick, Innovative Percussion, No substitutions FS-2T	233310-STEVE WEISS MUSIC	PAIR	\$8.50	8	\$68.00
18002035	Sticks: IP1M Multi Percussion Drum Stick, Innovative Percussion, No substitutions 1M	233310-STEVE WEISS MUSIC	PAIR	\$18.00	2	\$36.00
18002100	Sticks: Bass Drum Mallets, Vic Firth, No substitutions MB0H	233310-STEVE WEISS MUSIC	PAIR	\$22.00	3	\$66.00
18002105	Sticks: Bass Drum Mallets, Vic Firth, No substitutions MB1H	233310-STEVE WEISS MUSIC	PAIR	\$23.00	3	\$69.00
18002115	Sticks: Bass Drum Mallets, Vic Firth, No substitutions MB2H	233310-STEVE WEISS MUSIC	PAIR	\$24.25	4	\$97.00
18002125	Sticks: Bass Drum Mallets, Vic Firth, No substitutions MB3H	233310-STEVE WEISS MUSIC	PAIR	\$29.00	7	\$203.00
18002160	Sticks: Colin McNutt Snare Sticks, Vic Firth, No substitutions SCM	233310-STEVE WEISS MUSIC	PAIR	\$9.00	27	\$243.00
18002167	Musician's Gear Hickory Drum Sticks; Pack of 10. No Substitution.1026803	187146-MUSIC & ARTS CENTERS	PACK	\$7.76	1	\$7.76
18002175	Sticks: Ralph Hardimon Hammer Snare Sticks, Vic Firth, No substitutions SRH2	233310-STEVE WEISS MUSIC	PAIR	\$19.00	6	\$114.00
18002205	Sticks: Tom Aungst Snare Sticks, Vic Firth, No substitutions STA	233310-STEVE WEISS MUSIC	PAIR	\$9.00	4	\$36.00
18002230	Sticks: Thom Hannum Piccolo Tip Snare Sticks, Vic Firth, No substitutions STH3STH3	7286-UNIVERSAL MELODY ONLINE LLC	PAIR	\$8.00	6	\$48.00
18004000	Remo Powermax 2 PM-2216-CD 16 Inch Custom Graphic Bass Head - No Substitutions.	233310-STEVE WEISS MUSIC	EACH	\$39.00	2	\$78.00
18004003	Remo Powermax 2 PM-2218-CD 18" Custom Graphic Bass Head - No Substitutions	233310-STEVE WEISS MUSIC	EACH	\$43.00	2	\$86.00
18004006	Remo Powermax 2 PM-2220-CD 20" Custom Graphic Bass Head - No Substitutions.	233310-STEVE WEISS MUSIC	EACH	\$45.00	2	\$90.00
18004012	Remo Powermax 2 PM-2224-CD 24" Custom Graphic Bass Head - No Substitutions.	233310-STEVE WEISS MUSIC	EACH	\$62.00	2	\$124.00

Commodity	Description	Vender	Unit of	Awarded	04:	Extended
Code	<u>Description</u>	<u>Vendor</u>	Measure	Price	<u>Qty</u>	Price
18004018	Remo Powermax 2 PM-2228-CD 28" Custom Graphic Bass Head - No Substitutions.	233310-STEVE WEISS MUSIC	EACH	\$87.00	2	\$174.00
18004021	Remo Powermax 2 PM-2230-CD 30" Custom Graphic Bass Head - No Substitutions	233310-STEVE WEISS MUSIC	EACH	\$98.00	2	\$196.00
18007498	Pearl CX Tenor Airframe Carrier Agility J-Rod - Right, No substitutions.	233310-STEVE WEISS MUSIC	EACH	\$20.00	2	\$40.00
18007499	Pearl CX Tenor Airframe Carrier Agility J-Rod - LEFT, No substitutions.	233310-STEVE WEISS MUSIC	EACH	\$20.00	2	\$40.00
	DRUM THRONE, ROUND VINYL; Gibraltar 9600 Series Round Vinyl Drum Throne. Round drummer's throne featuring locking height adjustment to allow for a full range of heights, and double braced legs for durability. No Substitutions.	233310-STEVE WEISS MUSIC	EA	\$102.00	1	\$102.00
18007525	Cymbal Stand; Yamaha Boom Cymbal Stand- Heavy Weight Double Braced (CS965) Model: YAM-CS965, No substitutions.	233310-STEVE WEISS MUSIC	EACH	\$99.50	5	\$497.50
18007526	CYMBAL HOLDER; Pearl Boom Cymbal Holder - CH70, PEA-CH70, No substitutions.	4628-TAYLOR MUSIC INC.	EACH	\$38.99	4	\$155.96
18007535	CYMBAL STRAPS; Seavine Cymbal Straps (Pair), SEA-CYMSTRAP, No substitutions.	233310-STEVE WEISS MUSIC	PAIR	\$9.00	10	\$90.00
18007546	Cymbal Pads ; Zildjian Cymbal Pads - Leather (Pair) Model: ZIL-P0751. No substitutions.	4628-TAYLOR MUSIC INC.	PAIR	\$11.99	10	\$119.90
18008022	Black Seavine Cymbal Gloves SEA-GLOVE-BLACK-S; SMALL; PAIR; No substitutions.	233310-STEVE WEISS MUSIC	PAIR	\$15.00	2	\$30.00
18008023	Black Seavine Cymbal Gloves SEA-GLOVE-BLACK-M; MEDIUM; PAIR; No substitutions.	233310-STEVE WEISS MUSIC	PAIR	\$15.00	2	\$30.00
18008024	Black Seavine Cymbal Gloves SEA-GLOVE-BLACK-L; LARGE; PAIR; No substitutions.	233310-STEVE WEISS MUSIC	PAIR	\$15.00	2	\$30.00
18050003	The Original Hill Peg Compound, NO SUBSITUTIONS1192	5075-SHAR PRODUCTS COMPANY	EACH	\$7.95	1	\$7.95
18050030	Strings: Violin E string, Super Sensitive, No substitutions Red Label 2116 4/4 size299EB44M	5075-SHAR PRODUCTS COMPANY	EACH	\$1.38	5	\$6.90
18050055	Strings: Violin A string, Super Sensitive, No substitutions Red Label 2126 4/4 size300A44M	5075-SHAR PRODUCTS COMPANY	EACH	\$3.01	5	\$15.05
18050080	Strings: Violin D string, Super Sensitive, No substitutions Red Label 2136 4/4 size301D44M	5075-SHAR PRODUCTS COMPANY	EACH	\$3.24	3	\$9.72
18050081	Violin String Set Thomastik Vision Solo 4/4 - Medium Gauge - with Silver Wound D String, No Substitutions1049364	187146-MUSIC & ARTS CENTERS	EACH	\$26.81	1	\$26.81
18050091	Baton Mollard "S" Series: 14" Length, Pau Ferro Handle, Carbon Fiber Shaft, No Substitutions1019420	187146-MUSIC & ARTS CENTERS	EACH	\$30.55	2	\$61.10
18050092	Baton Mollard "P Series" Pau Ferro white carbon fiber 12". No substitutions.68276	187146-MUSIC & ARTS CENTERS	EACH	\$31.96	3	\$95.88
18050093	Baton Mollard "P Series" Pau Ferro white carbon fiber 14". No substitutions.68277	187146-MUSIC & ARTS CENTERS	EACH	\$30.99	2	\$61.98
18050094	Baton Mollard "P Series" Pau Ferro white carbon fiber 16". No substitutions.	8858-PAUL ALAN PETERSON	EACH	\$49.95	2	\$99.90

Commodity	Description	Vendor	Unit of	Awarded	Qty	Extended
Code			Measure	<u>Price</u>		Price
18050105	Strings: Violin G string, Super Sensitive, No substitutions Red Label 2146 4/4 size302G44M	5075-SHAR PRODUCTS COMPANY	EACH	\$3.34	3	\$10.02
18050125	Strings: Violin Set of strings, Super Sensitive, No substitutions Red Label 2105 3/4 size299S34M	5075-SHAR PRODUCTS COMPANY	SETS	\$10.55	2	\$21.10
18050130	Strings: Violin Set of strings, Super Sensitive, No substitutions Red Label 2106 4/4 size299S44M	5075-SHAR PRODUCTS COMPANY	SETS	\$10.55	2	\$21.10
18050135	Strings: Viola A string, Super Sensitive, No substitutions Red Label 4112 1/8 (11")4112	232190-WASHINGTON MUSIC SALES CENTER INC	EACH	\$5.15	2	\$10.30
18050140	Strings: Viola A string, Super Sensitive, No substitutions Red Label 4113 Mini (12")4113	232190-WASHINGTON MUSIC SALES CENTER INC	EACH	\$5.15	2	\$10.30
18050180	Strings: Viola D string, Super Sensitive, No substitutions Red Label 4126 Full size303A44M	5075-SHAR PRODUCTS COMPANY	EACH	\$3.99	2	\$7.98
18050200	Strings: Viola G string, Super Sensitive, No substitutions Red Label 4135 Intermediate (14")305G14M	5075-SHAR PRODUCTS COMPANY	EACH	\$4.38	1	\$4.38
18050205	Strings: Viola G string, Super Sensitive, No substitutions Red Label 4136 Full Size305G44M	5075-SHAR PRODUCTS COMPANY	EACH	\$4.38	2	\$8.76
18050220	Strings: Viola C string, Super Sensitive, No substitutions Red Label 4144 Junior (13")306C13M	5075-SHAR PRODUCTS COMPANY	EACH	\$5.26	1	\$5.26
18050225	Strings: Viola C string, Super Sensitive, No substitutions Red Label 4145 Intermediate (14")306C14M	5075-SHAR PRODUCTS COMPANY	EACH	\$5.26	1	\$5.26
18050230	Strings: Viola C string, Super Sensitive, No substitutions Red Label 4146 Full Size306C44M	5075-SHAR PRODUCTS COMPANY	EACH	\$5.26	2	\$10.52
18050255	Strings: Viola String Set, Super Sensitive, No substitutions Red Label 4106 Full size303S44N	5075-SHAR PRODUCTS COMPANY	SETS	\$16.25	2	\$32.50
18050280	Strings: Cello A string, Super Sensitive, No substitutions Red Label 6116 4/4 size307A44M	5075-SHAR PRODUCTS COMPANY	EACH	\$6.48	2	\$12.96
18050305	Strings: Cello D string, Super Sensitive, No substitutions Red Label 6126 4/4 size308D44M	5075-SHAR PRODUCTS COMPANY	EACH	\$7.47	2	\$14.94
18050330	Strings: Cello C string, Super Sensitive, No substitutions Red Label 6146 4/4 size310C44M	5075-SHAR PRODUCTS COMPANY	EACH	\$9.93	2	\$19.86
18050355	Strings: Cello G string, Super Sensitive, No substitutions Red Label 6136 4/4 size309G44M	5075-SHAR PRODUCTS COMPANY	EACH	\$9.13	2	\$18.26
18050375	Strings: Cello String Set, Super Sensitive, No substitutions Red Label 6105 3/4 size307S34	5075-SHAR PRODUCTS COMPANY	SETS	\$33.07	2	\$66.14
18050380	Strings: Cello String Set, Super Sensitive, No substitutions Red Label 6106 4/4 size307S44M	5075-SHAR PRODUCTS COMPANY	SETS	\$33.07	1	\$33.07
18050399	STRINGS; PRELUDE BASS STRING SET, 1/4 SCALE, Medium Tension Model J610 1/4M. Prelude bass strings are multi-stranded steel core strings that produce a warm tone quality with good bow response. Prelude bass strings maintain a clear794514M	5075-SHAR PRODUCTS COMPANY	SET	\$59.21	1	\$59.21

Commodity Code	<u>Description</u>	<u>Vendor</u>	<u>Unit of</u> Measure	Awarded Price	Qty	Extended Price
18050403	The Realist Copperhead Bass Pickup - No substitutionsRBP100	5075-SHAR PRODUCTS COMPANY	EACH	\$195.00	1	\$195.00
18050405	Rosin: Bass Rosin, Pops, No substitutions GLPOPS Pops Bass Rosin1184	5075-SHAR PRODUCTS COMPANY	EACH	\$9.95	11	\$109.45
18050411	Rosin Bernardel for Violin Viola or Cello, No Substitutions1197	5075-SHAR PRODUCTS COMPANY	EACH	\$6.25	8	\$50.00
18050450	Strings: 80/20 Bronze Guitar string set, D'Addario, No substitutions EJ11350945	233895-WEST MUSIC COMPANY	SETS	\$5.48	8	\$43.84
18050457	Guitar Strings: D'Addario EJ17 Phosphor Bronze Medium Acoustic Strings (3-Pack) - no substitutions 354780	233895-WEST MUSIC COMPANY	PACK	\$18.56	4	\$74.24
18050460	Strings: Silverplated Ball End nylon classic Guitar string set, D'Addario, No substitutions M160351428	233895-WEST MUSIC COMPANY	SETS	\$4.84	6	\$29.04
18050481	Shoulder Rest Wolf Forte Secondo Violin Violin 4/4-3/4 Size, No Substitutions26979	187146-MUSIC & ARTS CENTERS	EACH	\$29.34	3	\$88.02
18050482	Shoulder Rest Kun Original 4/4 Violin , No Substitutions1313	5075-SHAR PRODUCTS COMPANY	EACH	\$23.95	3	\$71.85
18050484	Shoulder Rest Kun Original Viola, No Substitutions1314	5075-SHAR PRODUCTS COMPANY	EACH	\$25.95	2	\$51.90
	REEDS: BASSOON MEDIUM HARD STRENGTH, Reeds: Marlin Lesher Bassoon Reed in MEDIUM HARD STRENGTH. NO SUBSITITUTIONS.21551	187146-MUSIC & ARTS CENTERS	EA	\$12.54	2	\$25.08
18100004	REEDS: BASSOON MEDIUM SOFT STRENGTH; REEDS: Marlin Lesher Bassoon Reed in Medium Soft Strength. NO SUBSTITUTIONS.21549	187146-MUSIC & ARTS CENTERS	EA	\$12.54	2	\$25.08
18100006	REEDS: OBOE HARD STRENGTH; Reeds Marlin Lesher Oboe Reed in HARD STRENGTH. Marlin Lesher reeds hold up to the most discriminating of tastes. NO SUBSTITUTIONS.21547	187146-MUSIC & ARTS CENTERS	EA	\$11.78	2	\$23.56
18100007	REEDS: OBOE MEDIUM SOFT STRENGTH; Reeds: Marlin Lesher Oboe Reed in MEDIUM SOFT STRENGTH. Marlin Lesher reeds hold up to the most discriminating of tastes. NO SUBSTITUTIONS.21545	187146-MUSIC & ARTS CENTERS	EA	\$11.09	6	\$66.54
18100008	REEDS: OBOE MEDIUM STRENGTH; Reeds: Marlin Lesher Oboe Reed in Medium Strength. Marlin Lesher reeds hold up to the most discriminating of tastes. NO SUBSTITUTIONS.22838	187146-MUSIC & ARTS CENTERS	EA	\$11.78	4	\$47.12
18100009	REEDS: CLARINET REED, STRENGTH 2.5; Reeds: Legere, Reeds Clarinet Reed, Strength 2.5. Synthetic Clarinet Reed by Legere. NO SUBSTITUTIONS.38061	187146-MUSIC & ARTS CENTERS	EA	\$18.15	2	\$36.30
18100010	Reeds: Vandoren, No substitutions Traditional BOX OF 10 Clarinet Reeds, Strength 3	4628-TAYLOR MUSIC INC.	BOX	\$19.99	1	\$19.99
18100012	REEDS: CLARINET REED, STRENGTH 3; Reeds: Legere, Reeds Clarinet Reed, Strength 3 Synthetic Clarinet Reed by Legere. NO SUBSTITUTIONS.38062	187146-MUSIC & ARTS CENTERS	EA	\$18.15	6	\$108.90
18100019	Reeds: Eb Soprano Clarinet Vandoren, No substitutions ;Traditional BOX OF 10 Clarinet Reeds, Strength 3.	4628-TAYLOR MUSIC INC.	вох	\$19.99	1	\$19.99
18100025	Reeds: Vandoren, No substitutions Traditional BOX OF 10 Alto Saxphone Reeds, Strength 2.5SR2125	232190-WASHINGTON MUSIC SALES CENTER INC	BOX	\$25.80	4	\$103.20

Commodity	<u>Description</u>	Vendor	Unit of	Awarded	Qty	Extended
Code			Measure	Price		Price
18100028	REEDS: ALTO SAXOPHONE, STRENGTH 2.50; REEDS: Legere Studio Cut, Reeds Alto Saxophone Reed, Strength 2.50. Synthetic Saxophone Reed by Legere, NO SUBSTITUTIONS.69806	187146-MUSIC & ARTS CENTERS	EA	\$18.15	3	\$54.45
18100030	Reeds: Vandoren, No substitutions Traditional BOX OF 10 Alto Saxphone Reeds, Strength 3SR213	232190-WASHINGTON MUSIC SALES CENTER INC	вох	\$25.80	2	\$51.60
18100031	REEDS: ALTO SAXOPHONE, STRENGTH 3; Reeds: Vandoren Java, Java BOX OF 10 Alto Saxophone Reeds, Strength 3. Green Box Vandoren Alto Saxophone Reeds in #3 Strength. NO SUBSTITUTIONS.SR263	232190-WASHINGTON MUSIC SALES CENTER INC	BOX	\$25.80	1	\$25.80
18100032	REEDS: ALTO SAXOPHONE, STRENGTH 3.00, Reeds: Legere Studio Cut, Reeds Alto Saxophone Reed, Strength 3.00, Synthetic Saxophone Reed by Legere. NO SUBSTITUTIONS.108592	187146-MUSIC & ARTS CENTERS	EA	\$18.15	3	\$54.45
18100040	Reeds: Vandoren, No substitutions Traditional BOX OF 5 Tenor Saxphone Reeds, Strength 2.5SR2225 BID AS 2	232190-WASHINGTON MUSIC SALES CENTER INC	BOX	\$18.75	3	\$56.25
18100043	REEDS: TENOR SAXOPHONE REED, STRENGTH 3, REEDS: Legere Studio Cut, Reeds Tenor Saxophone Reed, Strength 3. Synthetic Saxophone Reed by Legere. NO SUBSTITUTIONS.69815	187146-MUSIC & ARTS CENTERS	EA	\$19.67	2	\$39.34
18100045	Reeds: Vandoren, No substitutions Traditional BOX OF 5 Tenor Saxphone Reeds, Strength 3SR223 BID AS 2	232190-WASHINGTON MUSIC SALES CENTER INC	BOX	\$18.75	2	\$37.50
18100055	Reeds: Vandoren, No substitutions Traditional BOX OF 10 Baritone Saxophone Reeds, Strength 3SR243 BOX OF 5	4628-TAYLOR MUSIC INC.	BOX	\$32.99	1	\$32.99
18100056	REEDS; BARITONE SAXOPHONE REED, STRENGTH 3, REEDS: Legere, Reeds Baritone Saxophone Reed, Strength 3. Synthetic Saxophone Reed by Legere. NO SUBSTITUTIONS.191201	187146-MUSIC & ARTS CENTERS	EA	\$20.37	2	\$40.74
18100060	Reeds: Vandoren Java, No substitutions Java BOX OF 10 Alto Saxophone Reeds, Strength 2.5SR2625	232190-WASHINGTON MUSIC SALES CENTER INC	BOX	\$25.80	1	\$25.80
18100064	Reeds: Vandoren Java, No substitutions Java BOX OF 10 Alto Saxophone Reeds, Strength 3.SR263	232190-WASHINGTON MUSIC SALES CENTER INC	BOX	\$25.80	1	\$25.80
18100071	Rice Royal Bass Clarinet Reeds Box of 10, Strength 2.5	4628-TAYLOR MUSIC INC.	BOX	\$26.99	3	\$80.97
18100074	REEDS: BASS CLARINET REEDS, STRENGTH 2 1/2. Reeds: Vandoren, Traditional BOX OF 5 Bass Clarinet Reeds, Strength 2/12. Blue Box Vandoren Bass Clarinet Reeds in #2 1/2 Strength. NO SUBSTITUTIONS.CR1225	232190-WASHINGTON MUSIC SALES CENTER INC	BOX	\$18.95	1	\$18.95
18100080	Reeds: Rico, No substitutions Rico Royal BOX OF 10 Clarinet Reeds, Strength 2.577506	187146-MUSIC & ARTS CENTERS	BOX	\$14.52	2	\$29.04
18100084	Reeds: Rico, No substitutions Rico (NOT Royal) Box of 25 Clarinet Reeds, Strength 2.5.	4628-TAYLOR MUSIC INC.	BOX	\$32.99	1	\$32.99
18100085	Reeds: Rico, No substitutions Rico Royal BOX OF 10 Clarinet Reeds, Strength 377490	187146-MUSIC & ARTS CENTERS	BOX	\$13.80	2	\$27.60
18100090	Reeds: Rico, No substitutions Rico Royal BOX OF 10 Clarinet Reeds, Strength 3.577530	187146-MUSIC & ARTS CENTERS	BOX	\$13.80	1	\$13.80

Commodity Code	<u>Description</u>	<u>Vendor</u>	<u>Unit of</u> Measure	Awarded Price	Qty	Extended Price
18100094	Reeds: Rico, No substitutions Rico (NOT Royal) BOX of 25 Clainet Reeds, Strength 2	4628-TAYLOR MUSIC INC.	BOX	\$32.99	4	\$131.96
18100096	Reeds: Rico, No substitutions Rico Royal BOX of 10 Clarinet Reeds, Strength 2.577506	187146-MUSIC & ARTS CENTERS	BOX	\$14.52	2	\$29.04
18100097	Reeds: Rico, No substitutions Rico (NOT Royal) BOX of 25 Clarinet Reeds, Strength 3	4628-TAYLOR MUSIC INC.	BOX	\$32.99	2	\$65.98
18100100	Reeds: Rico, No substitutions Rico Royal BOX OF 10 Alto Saxophone Reeds, Strength 2	4628-TAYLOR MUSIC INC.	BOX	\$19.99	1	\$19.99
18100105	Reeds: Rico, No substitutions Rico Royal BOX OF 10 Alto Saxophone Reeds, Strength 2.577377	187146-MUSIC & ARTS CENTERS	BOX	\$19.98	4	\$79.92
18100116	Reeds: Rico, No substitutions Rico (NOT Royal) BOX of 25 Alto Saxophone Reeds, Strength 2	4628-TAYLOR MUSIC INC.	BOX	\$43.49	3	\$130.47
18100117	Reeds: Rico, No substitutions Rico (NOT Royal) BOX of 25 Alto Saxophone Reeds, Strength 2.5	4628-TAYLOR MUSIC INC.	вох	\$43.49	1	\$43.49
18100118	Reeds: Rico, No substitutions Rico (NOT Royal) BOX of 25 Alto Saxophone Reeds, Strength 3	4628-TAYLOR MUSIC INC.	BOX	\$43.49	2	\$86.98
18100120	Reeds: Rico, No substitutions Rico Royal BOX OF 10 Tenor Saxophone Reeds, Strength 2.5	4628-TAYLOR MUSIC INC.	BOX	\$26.99	3	\$80.97
18100132	Reeds: Rico, No substitutions Rico (NOT Royal) BOX of 25 Tenor Saxophone, Strength 3	4628-TAYLOR MUSIC INC.	BOX	\$60.49	1	\$60.49
18100140	Reeds: Rico, No substitutions Rico Royal BOX OF 10 Baritone Saxophone Reeds, Strength 3	4628-TAYLOR MUSIC INC.	вох	\$33.49	1	\$33.49
18100145	Lubricants: Any brand Cork Grease, 15 oz. or similar1572263	187146-MUSIC & ARTS CENTERS	EACH	\$0.95	21	\$19.95
18100150	Lubricants: Any brand Key OilCONN 4104	4628-TAYLOR MUSIC INC.	EACH	\$3.88	7	\$27.16
18100154	LUBRICANTS; AL KASS SLID AND KEY OIL. Valve, slide, and key oil; Compact bottle that will fit in any brass case; 2.0 fluid oz. of valve oil. NO SUBSTITUTIONS.	4628-TAYLOR MUSIC INC.	EA	\$4.49	17	\$76.33
18100175	Thumb Cushion: BG or equivalent Thumb cushion for clarinet1037720	187146-MUSIC & ARTS CENTERS	EACH	\$2.39	2	\$4.78
18100180	Thumb Cushion: Selmer or equivalent Thumb cushion for clarinet3290 thom-eez	187146-MUSIC & ARTS CENTERS	EACH	\$1.16	8	\$9.28
18100185	Neck Strap: Neotech, No substitutions Saxophone Neck Strap1901282	187146-MUSIC & ARTS CENTERS	EACH	\$12.47	1	\$12.47
18100190	Neck Strap: Ray Hyman Saxophone Neck Strap7942B	232190-WASHINGTON MUSIC SALES CENTER INC	EACH	\$14.90	2	\$29.80
18100195	Cleaning products: Sterisol or equivalent Spray mouthpiece cleaner36044	187146-MUSIC & ARTS CENTERS	EACH	\$4.27	5	\$21.35
18100215	Ligatures: Rovner, No substitutions Alto Saxophone Ligature	4628-TAYLOR MUSIC INC.	EACH	\$19.90	1	\$19.90
18100245	Ligatures: Rovner, No substitutions Baritone Saxophone Ligature	4628-TAYLOR MUSIC INC.	EACH	\$19.90	2	\$39.80
18100380	MUTE: DENIS WICK FRENCH HORN STRAIGHT MUTE DW5524. NO SUBSTITUTIONS.DW5524	232190-WASHINGTON MUSIC SALES CENTER INC	EA	\$53.60	3	\$160.80

Commodity	Passwintian	Vandar	Unit of	Awarded	05:	Extended
<u>Code</u>	<u>Description</u>	<u>Vendor</u>	<u>Measure</u>	<u>Price</u>	<u>Qty</u>	<u>Price</u>
	MUTE: CUP TROMBONE; MUTE: HUMES & BERG STONELINED CUP, TROMBONE MUTE-NO SUBSTITUTIONS.8122	187146-MUSIC & ARTS CENTERS	EA	\$29.04	4	\$116.16
18100395	MUTE: STRAIGHT TROMBONE, MUTE: Humes & Berg Stonelined Straight Trombone Mute, Tenor Trombone Straight Mute; Produces an outstanding precise and crisp sound. NO SUBSTITUTIONS.8121	187146-MUSIC & ARTS CENTERS	EA	\$18.81	4	\$75.24
18100400	Mute: Humes & Berg Trumpet Straight Mute (model HB-101) - no substitutions 8042	187146-MUSIC & ARTS CENTERS	EACH	\$16.05	4	\$64.20
18100403	Mute: Humes & Berg Stonelined Cup Trumpet Mute - no substitutions 8044	187146-MUSIC & ARTS CENTERS	EACH	\$26.85	4	\$107.40
18150010	Drum Sticks/Mallets: SD1 General Snare Drum Sticks, Vic Firth or equivalent VIC-SD1	233310-STEVE WEISS MUSIC	PAIR	\$7.50	7	\$52.50
18150012	Drum Sticks/Mallets: Vic Firth SD1 General Snare Drum Sticks, Vic Firth - No Substitutions.	233310-STEVE WEISS MUSIC	PAIR	\$7.50	5	\$37.50
18150040	Drum Sticks/Mallets: Vic Firth M33 Terry Gibbs Vibraphone or Marimba Mallets, Vic Firth or equivalent VIC-M33	233310-STEVE WEISS MUSIC	PAIR	\$37.00	3	\$111.00
18150134	Drum Set: RTOM Moongel Drum Damper Pads - Blue (6-pack). No substitutions.	233310-STEVE WEISS MUSIC	SET	\$4.50	6	\$27.00
18150141	Drum Set: Zildjian ZSK Drummer's Survival Kit. Drum Accessory/Repair Kit with Tension Rods and Washers, Cymbal Felts and Sleeves, Wing Nuts, Hi-hat Felt Washers, Snare Cords, and a Drum Key. No substitutions.	233310-STEVE WEISS MUSIC	SET	\$12.75	2	\$25.50
18150153	DRUM ACCESSORIES: GROVER PRO TB PROFESSIONAL TRIANGLE BEATER SETS, Deluxe set of ten tubular beaters with case TB-D. Item weight 14.4 ounces; Product dimensions 9.5 x 2.5 x 1.1 inches. NO SUBSTITUTIONS.	233310-STEVE WEISS MUSIC	SET	\$71.00	1	\$71.00
18150165	Metronomes: Boss DB-90 Dr. Beat Metronome, Boss, No substitutions DB-90	233310-STEVE WEISS MUSIC	EACH	\$115.00	1	\$115.00
18150174	Drum Pads: Evans RealFeel 2-Sided Speed and Workout Drum Pad Gray 12 in.	233310-STEVE WEISS MUSIC	EACH	\$26.50	4	\$106.00
18150192	Drum Head, Remo 14" Ambassador Clear Snare Side (Bottom) Drum Head, No Substitutions	233310-STEVE WEISS MUSIC	EACH	\$13.00	2	\$26.00
18150200	Drum Heads; 10 Inch Remo Vintage A Series Coated Drum Head Model # VA-0110-00; Constructed of 2-ply (7.5 and 3 mil Polyester Film); First Successful Alternative to Calfskin. REMO	233310-STEVE WEISS MUSIC	EACH	\$13.25	1	\$13.25
18150201	Drum Heads; 12 Inch Remo Vintage A Series; Model VA-0112-00 Coated Drum Head; Constructed of 2-ply (7.5 and 3 mil polyester firm); First Successful Alternative to Calfskin.	233310-STEVE WEISS MUSIC	EACH	\$13.50	1	\$13.50
18150203	Drum Heads: 14 Inch Remo Vintage A Series Coated Drum Head Model # VA-0114-00; Constructed of 2-ply (7.5 and 3 mil Polyester Film); First Sucessful Alternative to Calfskin. REMO	233310-STEVE WEISS MUSIC	EACH	\$15.00	1	\$15.00

Commodity	Description	Vandan	Unit of	Awarded	O4.	Extended
Code	<u>Description</u>	<u>Vendor</u>	Measure	Price	<u>Qty</u>	Price
18150206	Drum Heads; 20 Inch Remo Powerstroke Pro Coated Bass Drum Head; Model No. PR-1120-00; Constructed with 10 mil film; Pressure Dampening Profile; Permanently Mounted Acoustic Foam for Volume, Projection, and Producing Controlled Hig		EACH	\$46.00	1	\$46.00
18150300	Triangle Beater Set with Bag; Sabian	233310-STEVE WEISS MUSIC	SET	\$26.50	1	\$26.50
18200004	Gameplan Kindergarten Curriculum Book839883	233895-WEST MUSIC COMPANY	EACH	\$115.00	1	\$115.00
18200014	Rasp, Wooden Cricket Rasp, Wooden guiro-like rasp.200597	233895-WEST MUSIC COMPANY	EACH	\$12.89	2	\$25.78
18200021	RASP, SMALL FROG.201128	233895-WEST MUSIC COMPANY	EACH	\$12.24	3	\$36.72
18200023	RASP, MEDIUM FROG.201129	233895-WEST MUSIC COMPANY	EACH	\$16.12	3	\$48.36
18200024	RASP, LARGE FROG.1618	187155-MUSIC IN MOTION	EACH	\$22.95	3	\$68.85
18200215	Guitars: Yamaha C40 Classical Guitar (full sized), Yamaha, No substitutions11444	187146-MUSIC & ARTS CENTERS	EACH	\$124.55	9	\$1,120.95
18200216	Guitars: Kala Satin Mahogany Soprano Ukulele No Binding Standard1148277	187146-MUSIC & ARTS CENTERS	EACH	\$51.73	1	\$51.73
18200220	Guitar Strings: Folk Singer Guitar Strings – no substitutions, E-1st, #LAB_ 831, La Bella; Minimum order of 12- price per dozen.	8858-PAUL ALAN PETERSON	DOZ.	\$26.40	3	\$79.20
18200225	Guitar Strings: Folk Singer Guitar Strings – no substitutions, B-2nd, #LAB_ 832, La Bella; Order and price by dozen.	8858-PAUL ALAN PETERSON	DOZ.	\$27.00	3	\$81.00
18200230	Guitar Strings: Folk Singer Guitar Strings – no substitutions, G-3rd, #LAB_ 833, La Bella; Order and Price per Dozen.	8858-PAUL ALAN PETERSON	DOZ.	\$30.00	3	\$90.00
18200235	Guitar Strings: Folk Singer Guitar Strings; D-4th, #LAB_ 834, La Bella, No substitutions; Order and Price per Dozen.	8858-PAUL ALAN PETERSON	DOZ.	\$57.00	4	\$228.00
18200240	Guitar Strings: Folk Singer Guitar Strings – no substitutions, A-5th, #LAB_835, La Bella; Order and Price per Dozen.	8858-PAUL ALAN PETERSON	DOZ.	\$58.80	4	\$235.20
18200245	Guitar Strings: Folk Singer Guitar Strings – no substitutions, E-6th, #LAB_836, La Bella, Order and Price per Dozen.	8858-PAUL ALAN PETERSON	DOZ.	\$61.20	3	\$183.60
18200250	Guitar Strings: Folk Singer Guitar Strings – no substitutions, One set,#LAB_ 830, La Bella, No substitutions	8858-PAUL ALAN PETERSON	EACH	\$21.25	5	\$106.25
18200260	Classroom percussion: African bell with a guiding pole, Gankogui-various brands200011	233895-WEST MUSIC COMPANY	EACH	\$19.09	2	\$38.18
18200268	HANDBELL Kidsplay® - 8 Note Handbell Set (C to C). No Substitutions34996	187146-MUSIC & ARTS CENTERS	SET	\$39.46	2	\$78.92
18200280	Classroom Instruments: Sonor Meisterklasse Deep Bass Rosewood Xylophone GBKX10, Sonor, No substitutions201725	233895-WEST MUSIC COMPANY	EACH	\$1521.90	3	\$4,565.70
18200285	Classroom Instruments: Sonor Meisterklasse Tenor/Alto Rosewood Xylophone TAKX10, Sonor, No substitutions76144	187146-MUSIC & ARTS CENTERS	EACH	\$679.00	9	\$6,111.00
18200290	Classroom Instruments: Sonor Meisterklasse Soprano Rosewood Xylophone SKX10, Sonor, No substitutions201730	233895-WEST MUSIC COMPANY	EACH	\$495.90	14	\$6,942.60
18200294	Sonor ALS 1 Cording for all Sonor Xylo or Metallophone, 1 yard recommend 3 yards for soprano, 4 for T/A, 5 for bass.255120	233895-WEST MUSIC COMPANY	EACH	\$5.53	12	\$66.36

Commodity	Description	Vandar	Unit of	Awarded	04:	Extended
<u>Code</u>	<u>Description</u>	<u>Vendor</u>	Measure	<u>Price</u>	<u>Qty</u>	<u>Price</u>
18200306	Classroom Instruments: Sonor Meisterklasse SG 19 Soprano Glockenspiel (NO SUB)201806	233895-WEST MUSIC COMPANY	EACH	\$193.80	7	\$1,356.60
18200311	Sonor Primary Line AGP-1 Alto Glockenspiels include 16 bars, C - A (with F# and Bb bars), and 1 pair of SCH 95 mallets. Features 20 x 3mm steel bars with overtone or fundamental tuning. FSC pure certified.203786	233895-WEST MUSIC COMPANY	EACH	\$122.74	1	\$122.74
18200367	Classroom Instrument Stands: Basic Beat BBRTTS Orff Table Stand for Glockenspiels, Accessory Percussion (NO SUB)259587	233895-WEST MUSIC COMPANY	EACH	\$152.99	2	\$305.98
18200374	DOLLY: Adjustable dolly for electronic piano - Jansen-4004 or equivalent. NO SUB.1317989	187146-MUSIC & ARTS CENTERS	EACH	\$436.49	1	\$436.49
18200385	Classroom Instruments: Remo Kids KD-5080-01 7 1/2 x 10" Pre-Tuned Floor Toms, Remo, No substitutions1191998	187146-MUSIC & ARTS CENTERS	EACH	\$31.50	5	\$157.50
18200395	Classroom Instruments: 25 Bell Sleigh Bells-Any brand, Any Brand200249	233895-WEST MUSIC COMPANY	EACH	\$18.08	10	\$180.80
18200396	Sonor Meisterklasse TAG 19 Tenor-Alto Glockenspiel, no substitutions.201808	233895-WEST MUSIC COMPANY	EACH	\$201.40	4	\$805.60
18200400	Classroom Instruments: LP 11.5 inch flexatone, LP, No substitutions11575 LP1-5	187146-MUSIC & ARTS CENTERS	EACH	\$30.27	3	\$90.81
18200405	Classroom Instruments: Crank Ratchet, Any brand, Any BrandRB701	2482-RHYTHM BAND INSTRUMENTS	EACH	\$16.13	2	\$32.26
18200407	SUSPENDED CYMBAL: Zildjian Classic Orchestral Selection Suspended Cymbal 20 in. No Substitutions46595	187146-MUSIC & ARTS CENTERS	EACH	\$253.44	1	\$253.44
18200410	Classroom Instruments: Zildjian or Sabien 2.25" or 2.5" finger cymbals, Zidjian or Sabien, No substitutions50132	187146-MUSIC & ARTS CENTERS	EACH	\$24.73	5	\$123.65
18200411	Classroom Instruments: Sabian 50101 Light Finger Cymbals (NO SUB)50132	187146-MUSIC & ARTS CENTERS	EACH	\$18.56	3	\$55.68
18200412	Classroom Instruments: Sonor Cajon Mediano H91637 (NO SUB)202603	233895-WEST MUSIC COMPANY	EACH	\$152.00	3	\$456.00
18200413	Classroom Instruments: CP CP221 Tunable Bongos with Bag (NO SUB)8877	187146-MUSIC & ARTS CENTERS	EACH	\$45.19	3	\$135.57
18200415	Classroom Instruments: Remo TD-0615 Rope Tuned Talking Drum, 15"x6", African Stripe, Remo, No substitutions	2482-RHYTHM BAND INSTRUMENTS	EACH	\$104.50	3	\$313.50
18200417	6" CP Replacement Rawhide Bongo Head.0060464	187146-MUSIC & ARTS CENTERS	EACH	\$25.46	2	\$50.92
18200418	7" CP Replacement Rawhide Bongo Head.0054158	187146-MUSIC & ARTS CENTERS	EACH	\$27.86	2	\$55.72
18200425	Classroom Instruments: LP Aspire LPA1331 Cajon, LP, No substitutions203424	233895-WEST MUSIC COMPANY	EACH	\$137.27	3	\$411.81
18200437	Maracas West Music Medium Hand Decorated Maracas. No substitutions.201014	233895-WEST MUSIC COMPANY	PAIR	\$12.56	2	\$25.12
18200438	Maracas Rhythm Band RB1203 Medium Wood Maracas. No substitutions.82828	187146-MUSIC & ARTS CENTERS	PAIR	\$12.06	2	\$24.12
18200441	JINGLE TAP204377	233895-WEST MUSIC COMPANY	EACH	\$2.39	8	\$19.12
18200442	Note Knacks Teacher Set, 32 blocks, 3 Time signatures, canvas storage bag.1424610	187146-MUSIC & ARTS CENTERS	SET	\$46.52	1	\$46.52
18200443	Note Knacks Beams Add On Set, 16 blocks, adding on sixteenth note rhythms.530640	233895-WEST MUSIC COMPANY	SET	\$25.89	9	\$233.01

Commodity Code	<u>Description</u>	<u>Vendor</u>	Unit of Measure	Awarded Price	Qty	Extended Price
18200444	Note Knacks Student Set, 31 blocks, 3 Time signatures, canvas storage bag.530639	233895-WEST MUSIC COMPANY	SET	\$34.88	11	\$383.68
18200447	Classroom Percussion: Tone Block (Bamboo Large) 1124685	187146-MUSIC & ARTS CENTERS	EACH	\$6.61	2	\$13.22
18200448	Classroom Percussion: Remo Economy Tambourines 8 in. Double Row Jingles - no substitutions 97685	187146-MUSIC & ARTS CENTERS	EACH	\$15.00	7	\$105.00
18200450	Classroom percussion: Plastic Egg Shaker 4 Piece Assortment, Nino, No substitutions206151	233895-WEST MUSIC COMPANY	EACH	\$7.67	3	\$23.01
18200451	Classroom percussion: Boomwhackers C Major Diatonic Scaled Set (Upper Octave) Boomwhackers Tuned Percussion Tubes200346	233895-WEST MUSIC COMPANY	SET	\$17.64	11	\$194.04
18200453	Classroom percussion: Boomwhackers; OC8G Octavator Tube Caps; 8 pack; BWCG; No substitutions 200403	233895-WEST MUSIC COMPANY	PACK	\$6.89	3	\$20.67
18200455	Classroom percussion: 25-Note Artist Chromatic Melody Bells Standard (C - C), Rhythm Band, No substitutions	2482-RHYTHM BAND INSTRUMENTS	EACH	\$100.00	3	\$300.00
18200465	Guitar Accessories: Standard Guitar Pick White - Medium (dozen), Fender, No substitutions350655	233895-WEST MUSIC COMPANY	DOZ	\$3.22	2	\$6.44
18200481	GUITAR ACCESSORIES: NS CLASSICAL GUITAR CAPO; MODEL: PW-CP-04. The planet Waves PW-CP-04 NS Capo Pro designed for use on classical guitars, NO SUBSTITUTIONS.162854	187146-MUSIC & ARTS CENTERS	EA	\$15.89	2	\$31.78
18200487	Guitar: Kyser Capo for Classical Guitar-Black, NO SUBSTITUTIONS22522	187146-MUSIC & ARTS CENTERS	EACH	\$19.32	1	\$19.32
18200505	Classroom percussion: Remo African DJ-0014-PM Key-Tuned Djembe, Kintekloth, Size: 14"X25", No substitutions.	233310-STEVE WEISS MUSIC	EACH	\$280.00	22	\$6,160.00
18200511	Classroom Percussion: Remo 100 Series TU-1110-PM 27 X 10 inch Key-Tuned Tubano, Kintekloth	233310-STEVE WEISS MUSIC	EACH	\$194.00	18	\$3,492.00
18200512	Classroom Percussion: Remo 100 Series TU-1112-PM 27 X 12" Key-Tuned Tubano, Kintekloth (NO SUB)	233310-STEVE WEISS MUSIC	EACH	\$217.00	24	\$5,208.00
18200513	Classroom Percussion: Remo 100 Series TU-1114-PM 27 X 14" Key-Tuned Tubano, Kintekloth (NO SUB)	233310-STEVE WEISS MUSIC	EACH	\$258.00	23	\$5,934.00
18200516	Classroom Instruments: Basic Beat BBV567 Rolling Orff Stand, No Substitutions.260087	233895-WEST MUSIC COMPANY	EACH	\$134.99	13	\$1,754.87
18200517	Classroom Percussion: Basic Beat BBH04 Sandblocks- NO SUBSTITUTIONS.230764	233895-WEST MUSIC COMPANY	PAIR	\$6.25	5	\$31.25
18200521	Classroom Instruments: Rainstick; Cactus Rainstick, 30" (no specific brand)201135	233895-WEST MUSIC COMPANY	EACH	\$14.66	5	\$73.30
18200522	Recorders: West Music WM2400 3-Piece Recorder w/ Standard Fingering400278	233895-WEST MUSIC COMPANY	EACH	\$2.19	60	\$131.40
18200523	Recorders: #400278 Harmony WM4200 Recorder by West Music. Three piece recorder with standard fingerings.400278	233895-WEST MUSIC COMPANY	EACH	\$2.19	120	\$262.80

Commodity Code	<u>Description</u>	<u>Vendor</u>	<u>Unit of</u> Measure	Awarded Price	<u>Qty</u>	Extended Price
18200562	SMALL GONG, SABIAN 61005; Sabian 61005 Small gong Stand up to 34 inches gong, Enameled metal gong stand. Will hold a 22 inch - 34 inch diameter gong or thunder sheet. Enameled metal gong stand. NO SUBSTITUTIONS.	233310-STEVE WEISS MUSIC	EA	\$161.00	1	\$161.00
18200600	Classroom Instruments: Studio 49 KB/BX 1 Rosewood Bass Resonator Bar C (NO SUB)200201	233895-WEST MUSIC COMPANY	EACH	\$209.95	1	\$209.95
18200720	Music-Go-Rounds Manipulatives- Solfege Complete Set (No Sub)28126	187155-MUSIC IN MOTION	EACH	\$10.00	1	\$10.00
18200721	Music-Go-Rounds Manipulatives- Hands and Feet (No Sub)28084	187155-MUSIC IN MOTION	EACH	\$16.00	3	\$48.00
18200723	Music-Go-Rounds Manipulatives- Body Percussion (No Sub)28194	187155-MUSIC IN MOTION	EACH	\$32.00	3	\$96.00
18200725	Music-Go-Rounds Manipulatives-Simple Time-ADD-ONS , Poly spots that stick to multiple surfaces. (Item #28052); (No Sub)28052	187155-MUSIC IN MOTION	SET	\$36.00	1	\$36.00
18200740	ORFF MALLET: GLOCKENSPIEL MALLETS, WOOD: Orff Mallet: Sonor SCH95 Glockenspiel Mallets, Wood. For Chimes with steel bars. Hard version, Mallet Head. Wood, Mallet shaft: Plastic, Head diameter: 20 mm, Price per pair. NO SUBSTITUTI254836	233895-WEST MUSIC COMPANY	PAIR	\$12.92	36	\$465.12
18200782	ORFF MALLET: YARN MALLET,MEDIUM; SCH25: Orff Mallet: Sonor SCH25 Yarn Mallets, Medium. Pair of medium-hard yarn mallets, with a 1.25 inch tan yarn head on a 12.25 inch shaft. Recommended for use with bass xylophones or metallophon261228	233895-WEST MUSIC COMPANY	PAIR	\$18.05	4	\$72.20
18200790	ORFF MALLET: WOOL FELT, HARD; SCH50; Orff Mallet: Sonor SCH50 Wool Felt Mallets, Hard. For soprano, tenor-alto xylophones and KS 40 PO, Hardness: Hard, Felt head, Plastic Shaft, Head diameter: 32mm, 1 Pair. NO SUBSTITUTIONS.254831	233895-WEST MUSIC COMPANY	PAIR	\$28.88	2	\$57.76
18200796	ORFF MALLET: Basic Beat BBYM Yarn Mallets, Mediu (Pair) NO SUBSTITUTIONS261016	233895-WEST MUSIC COMPANY	PAIR	\$12.46	5	\$62.30
18200802	Sonor ZS 1 Pins for all Sonor Xylo or Metallophone, 10 pc. (No Sub), Flexible replacement pins.261188	233895-WEST MUSIC COMPANY	PACK	\$6.08	3	\$18.24
18200803	Sonor ZS 2 Pins for all Sonor SG or TAG Glockenspiel, 10 p. (No Sub), Flexible replacement pins.260952	233895-WEST MUSIC COMPANY	PACK	\$5.32	1	\$5.32
18201100	Deluxe Scarves: 25"; set of 12; MIE1000-25. RB3004	2482-RHYTHM BAND INSTRUMENTS	SET	\$21.00	4	\$84.00
18201143	Orff Accessories: Basic Beat BBOCS Soprano Xylophone/Metallphone Dust Cover assure a snug,skn-like fit. Made of Lycra/Spandex material.258690	233895-WEST MUSIC COMPANY	EACH	\$11.70	5	\$58.50
18201144	Orff Accessories: Basic Beat BBOCB Bass Xylophone/Metallphone Dust Cover assure a snug,skn-like fit. Made of Lycra/Spandex material.258688	233895-WEST MUSIC COMPANY	EACH	\$12.89	3	\$38.67
18201147	Orff Accessories: Basic Beat BBOCAT Alto Xylophone/Metallphone Dust Cover assure a snug,skn-like fit. Made of Lycra/Spandex material.258689	233895-WEST MUSIC COMPANY	EACH	\$12.27	6	\$73.62
18201175	Black music rest/stand for the Yamaha DGX-650 and DGX-660 digital pianos.1546347	187146-MUSIC & ARTS CENTERS	EACH	\$769.38	1	\$769.38
18201500	Rhythm Band: Claves Select Hardwood 37598	187146-MUSIC & ARTS CENTERS	PAIR	\$4.90	4	\$19.60

Commodity	Description	Vandar	Unit of	Awarded	Otre	Extended
Code	<u>Description</u>	<u>Vendor</u>	Measure	Price	<u>Qty</u>	Price
	Rhythm Band: Musical Steel Triangle - 4 inch 38382	187146-MUSIC & ARTS CENTERS	EACH	\$3.90	3	\$11.70
18201535	Rhythm Band: Musical Steel Triangle - 5 inch 38030	187146-MUSIC & ARTS CENTERS	EACH	\$4.44	9	\$39.96
18201540	Rhythm Band: Musical Steel Triangle - 6 inch 120046	187146-MUSIC & ARTS CENTERS	EACH	\$5.04	8	\$40.32
18201545	Rhythm Band: Set of 24 Rhythm Sticks (RB802) 2620	187146-MUSIC & ARTS CENTERS	SET	\$26.07	1	\$26.07
18201555	Rhythm Band: Traditional Wood Guiro with Scratcher 109774	187146-MUSIC & ARTS CENTERS	EACH	\$11.69	13	\$151.97
18201560	Rhythm Band: Wood Block Bamboo 4989	187155-MUSIC IN MOTION	EACH	\$10.95	4	\$43.80
18201603	Bear Paw Creek Stretchy Band; Extra Large; 8 Yards or 24 Feet; NO SUBSTITUTIONS.540030	233895-WEST MUSIC COMPANY	EACH	\$59.33	2	\$118.66
18201624	Snark SN6 Clip-On Ukulele Tuner (Black) NO SUBSTITUTIONS354354	233895-WEST MUSIC COMPANY	EACH	\$13.47	13	\$175.11
18201625	CONCERT UKULELE, KALA "MAKALA" MK-C; Kala "MAKALA" MK-C Concert Ukulele. The mahogany neck features a rosewood fingerboard with 18 brass frets. Case not included. NO SUBSTITUTIONS.303686		EA	\$54.22	4	\$216.88
18201628	SOPRANO UKULELE, KALA "MAKALA" MK-S; The Kala Makala MK-S Soprano Ukulele. Th- body of the MK-S is crafted of agathis. The mahogany neck features a rosewood fingerboard with 18 brass frets. A Gig Bag, tuner, and an instruction pam1147629	187146-MUSIC & ARTS CENTERS	EA	\$46.88	6	\$281.28
18201668	AQUILA 4U SOPRANO UKULELE STRINGS; Aquila 4U Soprano Ukulele Strings. Aquila 4U Nylgut Soprano Regular Tuning Ukulele Strings-SOPRANO REGULAR TUNING, Key of C (All Nylgut strings) GCEA All Nylgut Strings. NO SUBSTITUTIONS.354171	233895-WEST MUSIC COMPANY	EA	\$4.80	3	\$14.40
18201675	West Music YTC-105 3' Rhythm Ribbons, Set of 6; Dual satin ribbons that swivel from a 9" sparkle filled handle. The ribbons are 3 feet long and 1" wide double ribbon in primary colors 540081	233895-WEST MUSIC COMPANY	SET	\$19.96	5	\$99.80
18202665	AQUILA 4U CONCERT UKULELE STRINGS; Aquila 7U Concert Ukulele Strings. Aquila 7U New Nylgut concert ukulele strings, GCEA, standard high G tuning in the key of C, authentic gut string sound, stable intonation. NO SUBSTITUTIONS.354174	233895-WEST MUSIC COMPANY	EA	\$4.80	12	\$57.60
18202666	West Music: Latin Percussion LP208 Standard Vibraslap; Item No. 201613	4628-TAYLOR MUSIC INC.	EACH	\$34.99	2	\$69.98
18203004	West Music: Instrumental Classmates 5-DVD Set; Item #8509162196	187155-MUSIC IN MOTION	SET	\$89.00	1	\$89.00
18203050	Rhythmically Moving: 9 CD's of Rhythmically Moving Folk Dance Music.850842	233895-WEST MUSIC COMPANY	SET	\$192.78	1	\$192.78
18203070	New England Dancing Masters - 5 Songbooks and 5 MP3s.867830	233895-WEST MUSIC COMPANY	SET	\$137.20	1	\$137.20
18250009	Gaffer tape - black; 2" wide - 60-yard Roll1113301	187146-MUSIC & ARTS CENTERS	EACH	\$18.92	1	\$18.92

Commodity	Description	Vendor	Unit of	Awarded	Qty	Extended
<u>Code</u>	<u>nescribriori</u>	Venuoi	<u>Measure</u>	Price	<u> </u>	<u>Price</u>
18300005	STROEBEL 1/2 Bass MB-80-12; 1/2 size - no sub.1422446	187146-MUSIC & ARTS CENTERS	EACH	\$1450.00	1	\$1,450.00
18300006	STROEBEL 1/8 Bass MB-80-18; 1/8 size - no sub.1422443	187146-MUSIC & ARTS CENTERS	EACH	\$1450.00	3	\$4,350.00
18300010	Guitars: Guitar, Yamaha, No substitutions C40C40II	232190-WASHINGTON MUSIC SALES CENTER INC	EACH	\$125.35	1	\$125.35
	String Instruments: Bass Bow French - Glasser Fiber Glass bow with wire grip (French 3/4 Size), Glasser, No substitutionsG503WF34	5075-SHAR PRODUCTS COMPANY	EACH	\$77.95	1	\$77.95
18300090	Yamaha Custom Birch 5-piece drum set with 20" bass drum and 780 hardware- Honey Amber; 20x17 Bass Drum, 10x7 Tom, 12x8 Tom, 14x13 Floor Tom, 14x5.5 Snare Drum, CS- 755 Medium-weight Boom Cymbal Stands (includes 2), HS-740A Hi-hat S	233310-STEVE WEISS MUSIC	EACH	\$744.00	1	\$744.00
	Single French Horn with case: Yamaha YHR-314II Student F French Horn. NO SUBSTITUTIONS.YHR-314II	232190-WASHINGTON MUSIC SALES CENTER INC	EACH	\$1648.65	3	\$4,945.95
	TENOR SAXOPHONE LACQUER W/CASE, YTS-480; Instrument: Yamaha YTS-480; Intermediate Bb Tenor Saxophone Lacquer w/case. Yamaha YTS-480; Intermediate Bb Teno Saxophone Lacquer w/case. NO SUBSTITUTIONS.YTS-480	232190-WASHINGTON MUSIC SALES CENTER INC	EA	\$2150.45	3	\$6,451.35
18300385	Ludwig LE-CT04-CC Concert Toms Black. 10", 12", 13", and 14" toms; 7-ply birch and Italian poplar shells. Strong chrome-plated lugs. no substitutionsLECT04CCG	232190-WASHINGTON MUSIC SALES CENTER INC	EACH	\$1146.40	1	\$1,146.40
18400035	Cables: 20 ft. XLR to quarter inch jack cable, Any Brand1014397	187146-MUSIC & ARTS CENTERS	EACH	\$7.99	8	\$63.92
18400040	Cables: 20 ft. quarter inch jack cable, Any Brand1000730	187146-MUSIC & ARTS CENTERS	EACH	\$15.75	8	\$126.00
18400055	Microphones: Vocal Microphone with switch, Shure, No substitutions SM58S630150	233895-WEST MUSIC COMPANY	EACH	\$88.93	2	\$177.86
18400060	Microphones: Instrumental Microphone, Shure, No substitutions SM57630148	233895-WEST MUSIC COMPANY	EACH	\$84.65	2	\$169.30
18400185	Cables: H-1 1' 1/4"-1/4" Patch Cable, Any Brand H-1 1' 1/4"-1/4" Patch Cable1170935	187146-MUSIC & ARTS CENTERS	EACH	\$5.33	5	\$26.65
	Fender FT-1 Pro Clip-On Tuner; Black - (No Sub); Violin, Ukulele; Tolerance: +/- 1 cent; Power: 3V CR2032 battery (one piece); Tuning Range: B0-B7; A4 Calibration: 440 Hz; Tuning Type: Automatic Clip-On Tuner.356455	233895-WEST MUSIC COMPANY	EACH	\$8.16	30	\$244.80
18400429	Yamaha Sustain Pedal; Piano Style; FC3A - No substitutions 1160067	187146-MUSIC & ARTS CENTERS	EACH	\$39.99	1	\$39.99
18450010	Clothing: Black Tuxedo Jacket -100 % Polyester/ Neil Allyn, No substitutions.	149490-FORMAL FASHIONS, INC.	EACH	\$55.00	2	\$110.00
18450015	Clothing: Black Tuxedo pants adjustable - 100% Polyester- Neil Allyn, No substitutions.	149490-FORMAL FASHIONS, INC.	EACH	\$24.00	2	\$48.00
	CLOTHING: BLACK BOWTIE STYLE-8250RA. Fits neck of 11 inches - 21 inches (Adult), Height: 2.5 inches, Width: 5 inches.	149490-FORMAL FASHIONS, INC.	EA	\$3.00	10	\$30.00
18450021	CLOTHING: BLACK CUMMERBUND: Fits waist of 28 inches - 44 inches (Adult).	149490-FORMAL FASHIONS, INC.	EA	\$7.00	10	\$70.00
					281	\$84,813.68